N4 5 EREFir 4 B%&EE BY#
PLIEE A A ‘5‘»‘%’ b ?s&i'%"—/»\/ﬁtﬂl

=

7o :F 3832 35 3 iE AR
R I VAN A A

i h o ¥ EmEP

&%B%ﬁﬁﬁﬁﬁﬁiﬁﬁﬁfi{@ﬂw%
FRPFEFEZ Sk REREFRG L Flwip
Fxo 2V EIRA F %*{%é%{rw % g i FE 3K
R AR R RS A RN mE R € RGFFEEMADREL P BINAS A ke
FAANZRHEIAEKXEFRGLG & AN F R RAEEL P T LA o b4
4ﬂ%@ﬁifﬂ*%&ﬁm:é%?%%g%aw&ﬁﬁg,bz$go
EFRPAERYIEZ LN 2P - ArREI RS AT AHEY D
%H%%%ﬁa’ﬁmﬁﬁﬁmmmﬁﬁiﬁﬁwé’i%%iﬂ~%%4H

15p 7y 3478 (F4 T FE) o

fﬁu::sﬁi
(.,):p

i

F 19

—  MITSEEE
FEERE f(0)= f(12) =0 . f(x)=asin(bx) >0,0< x<12 » {#12b=7 - fEfEb = «

12

L‘xb=%ﬁ)\%f(><)=asin(%X) - FIEREEE T H Hi7% 2 /NESEY UVISE S 4
B x=2 kA f(2)=asin(i—’2”) ~asin(Z)=4 - ffFa8

=~ aFr A

ISR = ¥

1L ERE R R 2N > AIMREEERS T a ~ b w e iy &H = -
2RB ERERYRA (R > SR IEWER a ~ b2 fH -

DA fige R 3% A2 B0 73 TE 1 -

F A

RIEBSARFEE 74 7 RA] -



% 20 &

— MSEEE

FHREEE 5 AR H UVIEHE R 42 F1aVB 2R (&) BHEDSS o

X\ e AR RS

3442 < f(x) <443 - FEH 19 REGEHAT f(X)=83in(12

4J§s85in(§)s4J§ : %zy%gssin(g)sg :

T #nt x_. 27 xt 3w

ﬁ%’:'%tﬁﬁzﬁﬁﬁggi?ﬁﬁﬁj  BItAY SRR A BERE Ry 3<t <4 [ 8<t<9 -
= wFr AL

FIEEREE = &%

1R B Rl B A~ F 2 BIREE EMES ) H e ny A~ FERX -
2 BRI HE AN A S5 20 SR H TE W AY U oK AT BE #E & -

3% & A

DA fife 708 72 B0 70 TR e

7 A

REBBARFFEHE 4% 7 RA -



